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Emdimgtbc / eros (3(- |-t\b-/\0f'{§>

T his is where the function crosses the X-axis.

To determine the zeros of a function we lety = O,

R

then solve for (or isolate) X,
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T here is aformula...

f(x):a(x—h)2+k
St y= 2
Py e e alxeh) K
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O=5(x-3)-20
a:5 - 207 k
x bt
X:3I 9—%
x:gt\rq
X=3+2
Y:B’cz -3~2



1. Second-Degree Function Standard Form.notebook December 03, 2021

Determine the zeros of the Fo”owing functions.
D f(x)=2(x-5¢-11 b f(x)=—%(x+3)2+4
) f(x)=4(x-10V+7 ) f(x)=2(x-17)
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2) f(x)=2(x-5) 11

ety =0
0=2(x—5)" ~11
Solve forX
11=2(x-5)
55=(x-5)
+J5.5=x-5
+2.35=x-5

1.235=x-5 2. -235~x-5
7135~ x and 265=x —— /eros
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=-2=--o0
b) f(x)=—=(x+3) ‘:L.; o
k=
0=_2

—k

Solve forX x=h*t —
x=-3% _—4
—-04

x:—3i\/ﬁ

x=-3%+3.16

-3-31b
I.3.16~=x+3 2. -3.16~=x+3 0-3+31L @ 3
0.16~ x —6.16~ x ol -Gl
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c) f()c):4(x—10)2 +7

ety =0
0=4(x—-10)" +7
Soheforx  TF d
A1)
~1.75 = (x—10)’ (0,7)
+J-1.75 = x - 10 R

— X
Put V=175 s impossib]e; therefore no zeros.

Notice that parameters a &k are both positive.

Wl‘xen g k have the same sign, there are no zeros.
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When Finc!ing zeros, there are 3 Possibilities:
i) there are 2 solutions (@ & khave oPPosite signs)
2) there is one solution  (the vertex is the zero; k= O>

5) there are no solutions (a & k have the same sign>

10
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a h=! k=]
Doa 5tud3 of the 1Cuv ' (x) 2—2(36—1)2 +15
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